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1) Fill in the missing values (all 4 of them) in the following table of data collected in the household survey for May 2013:
	Working Age Population          
	100 

	Employment
	63

	Unemployment
	 7

	Unemployment rate (%)
	

	Labor force
	 

	Labor force participation rate (%)
	

	Employment-population ratio 
	 


A) Unemployment rate
	7/(63+7) = 10%
B) Labor force
	63 + 7 = 70
C) Labor force participation rate
	(70/100)*100 = 70%
D) Employment-population ratio
	63/100 = .63 (63% is also acceptable)

2) Read the following paragraph to answer Question 2:
Marianne recently quit her job in Los Angeles so that she could move to Chicago with her new husband. She is currently looking for a new job and has already set up a few interviews. Steven is an assembly-line autoworker but was laid off six months ago. He has been unable to find a new job because most firms use machines to perform his particular skill.
A) What types of unemployment are represented in the situations above?
	Marianne: frictional
	Steven: structural
B) Which of the two types of unemployment from part (A) can be good for the economy? Explain why.
	Frictional employment can be good for the economy. This type of employment can lead to a better matching between individuals’ skills and the skills required for jobs. 

